SET NOCOUNT ON; CREATE TABLE #TEMP ( Codigo INT, Ordenacao INT, Pedido VARCHAR(15), NomeViajante VARCHAR(100), Valor
MONEY, Comissao MONEY, ValorNET MONEY); DELETE FROM #TEMP; INSERT INTO #TEMP ( Codigo, Ordenacao, Pedido,
NomeViajante, Valor, Comissao, ValorNET ) SELECT T027.A027_cod_pedido, A039_ordem_viaj, CONVERT(VARCHAR(10),
T027.A027_cod_pedido)+'/'+CONVERT(VARCHAR(10), AO39_ordem_viaj ) AS Pedido, ISNULL(A032_nm_viajante, ") +'"' +
ISNULL(A032 sobre_nm_viajante, ") AS NomeViajante, (A380 vir_seguro_viagem * A395 _vir camblo)
ISNULL(A397_vir_venda_desconto,0) + ( ISNULL(T027.A027_vir_fee, 0) / ( SELECT COUNT(DISTINCT A032_cod_viajante) FROM
T039_PEDIDO_VIAJANTE T039 WITH(NOLOCK) WHERE T039.A048_cod_site = T027.A048_cod_site AND T039.A027_cod_pedido =
T027.A027_cod_pedido )) AS Valor, ( ( ( A380_vIr_seguro_viagem * A395_vIr_cambio ) - ISNULL(A397_vIr_venda_desconto,0) + (
ISNULL(T027.A027_vIr_fee, 0) / ( SELECT COUNT(DISTINCT A032_cod_viajante) FROM T039_PEDIDO_VIAJANTE T039 WITH(NOLOCK)
WHERE T039.A048_cod_site = T027.A048_cod_site AND T039.A027_cod_pedido = T027.A027_cod_pedido ))) /
T027.A027_vir_pedido_reais ) * A0O61_vir_real AS Comissao, ( A380_vir_seguro_viagem * A395 vir_cambio ) -
ISNULL(A397_vIr_venda_desconto,0) + ( ISNULL(T027.A027_vIr_fee, 0) / ( SELECT COUNT(DISTINCT A032_cod_viajante) FROM

T039 _PEDIDO_VIAJANTE T039 WITH(NOLOCK) WHERE T039.A048 cod_site = T027.A048_cod_site AND T039.A027_cod_pedido =
T027.A027_cod_pedido )) - ( ( ( ( A380_vIr_seguro_viagem * A395_vIr_cambio ) - ISNULL(A397_vIr_venda_desconto,0) + (
ISNULL(T027.A027_vIr_fee, 0) / ( SELECT COUNT(DISTINCT A032_cod_viajante) FROM T039_PEDIDO_VIAJANTE T039 WITH(NOLOCK)
WHERE T039.A048 cod _site = T027.A048_cod_site AND T039. A027 _cod_pedido = T027. A027 _cod_pedido ))) /
T027.A027_vir_pedido_reais ) * A061_vir_real ) AS ValorNET FROM T027_PEDIDO T027 WITH(NOLOCK) INNER JOIN T028_VLR_PEDIDO
T028 WITH(NOLOCK) ON T028.A048 cod_site = T027.A048_cod_site AND T028.A027_cod_pedido = T027.A027_cod_pedido AND
T028.A013_cod_categoria = 3 INNER JOIN T308_PEDIDO_ITEM T308 WITH(NOLOCK) ON T308.A048_cod_site = T027.A048_cod_site
AND T308.A027_cod_pedido = T027.A027_cod_pedido INNER JOIN T380_RES_PLANO_VIAJANTE T380 WITH(NOLOCK) ON

T380.A048 cod_site = T308.A048 _cod_site AND T380.A027_cod_pedido = T308.A027_cod_pedido AND T380.A014_cod_plano =
T308.A014_cod_plano INNER JOIN T032_VIAJANTE T032 WITH(NOLOCK) ON T032.A032_cod_viajante = T380.A032_cod_viajante INNER
JOIN T039_PEDIDO_VIAJANTE T039 WITH(NOLOCK) ON T039.A027_cod_pedido = T027.A027 cod_pedido AND T039.A032_cod_viajante
= T032.A032_cod_viajante INNER JOIN T395_SEQ VLR_PEDIDO T395 WITH(NOLOCK) ON T380.A048 cod_site = T395.A048_cod_site
AND T380.A027_cod _pedido = T395.A027_cod ped|do AND T380.A014 _cod_plano = T395.A014 cod. plano AND

T380.A015_seq_ vir -~ plano = T395.A015_seq_vir_plano OUTER APPLY ( SELECT T397.A397 _per_comissao_editada, (
A397_vIr_venda_desconto / ( SELECT COUNT(DISTINCT A032_cod_viajante) FROM T039_PEDIDO_VIAJANTE T039 WITH(NOLOCK)
WHERE T039.A048 cod | site = T027.A048_cod_site AND T039.A027 _cod_pedido = T027.A027 _cod_pedido )) AS
A397_vIr_venda_desconto FROM T397_EDICAO_COMISSAO_PEDIDO T397 WITH(NOLOCK) WHERE T397.A048 cod_site =
T395.A048_cod_site AND T397.A027_cod_pedido = T395.A027_cod_pedido AND T397.A014_cod_plano = T395.A014_cod_plano AND
T397.A015_seq_vir_plano = T395.A015_seq_vir_plano AND T397.A013_cod_categoria = 3 GROUP BY
T397.A397_per_comissao_editada, A397_vir_venda_desconto ) AS T397 WHERE T027.A048_cod_site = AND T027.A027_status_pedido
= 'P' AND CONVERT(DATE, T027.A027_dat_pedido) >= CONVERT(DATE, '2024-08-25') AND CONVERT(DATE, T027.A027_dat_pedido)
<= CONVERT(DATE, '2025-02-18') AND T027.A003_cod_empresa = 27567 SELECT Codigo, Ordenacao, Pedido, NomeViajante,
SUM(Valor) AS Valor, SUM(Comissao) AS Comissao, SUM(ValorNET) AS ValorNET FROM #TEMP GROUP BY Codigo, Ordenacao, Pedido,
NomeViajante ORDER BY Codigo, Ordenacao;



